(%)
=L =
AX T L
1. T # 4 B R PR IR B R N A L dE L5
2. i T3 Wikt mHT65-1
3. T 1 BRIFERE RS Sf 342 10H  29HFT
[ B2 A%t )
BRI LSS (B LML otosE., Z B O
4. % A E 2 [ R /A% )

AEEEB L BOE (B ML OWE, 2 BB L OHEER
EREICHE EE AR i L - Bk R (i T8 — X




e P TP R AR B AR A L s T TEMRS RS P RR

e ah (LH%) G 122,395,900 M

T il ¥ & 111,269,000 Ay

THE Bl S A 24 %R 4> 11,126,900 5




& W BREPERMIBEER M LRETLSE No.
% b1 i 7 =  Hx i & 28 fi
[ERERE ¢
I| BT 1] 39,796,947
| EXRHE T 1] K 11,148,934
I HRE I T 1] 30,770,859
[ERENE-X s 81,716,740
/\@%
1| B 1] X 3,312,606
0| BGEHEE 1 = 13,282,729
— W PR 1 =K 12,957,530
B Et 29,552,865
at 111,269,605
A% THAMEI0 T 111,269,000
T RS 4 %A 11,126,900
wef At (L34%) 122,395,900




=B

METERM 1BREERE MM LRELIE GREDER) No.
£ L i = # 2 B Bl & %8
I |BEISE
Al B BRI L s L F 1 = 23,458,781
A2 |HHEE /N e H ==L SE 1 K 16,338,166

o>
T
+

39,796,947




2 M NMEPEFBRMBIBEER M LBEIE GREDRER) No.
% L i = = B i %8 fi

Al B E PR
1 |EB R T 1 = 1,202,144
2 |BERKETHE 1 X 3,814,687
3 |NEefE TF 1 =& 6,823,048
4 |BEKETHE 1 3K 85,744
5 |2=ybEOZFOM T H 1 K 8,349,106
6 |- 1 3K 3,184,052
&t 23,458,781




2 M BREPERMIREER M LRELIE GEHRE/NFER) No.
% b i3] =z 2 Bifg i ) &

A2 FEHBE/NER
1 |[EERGETE 1 K 652,908
2 |[BEMEIE 1 = 2,278,229
3 |NERE T 1 X 5,522,360
4 |BEKETHE 1 = 188,094
5 [2oy bR OO T 1 K 5,648,100
6 |- 1 = 2,048,475
&t 16,338,166




£ By B FP A AR B EE AR A L s T [ PER] No.
4 g T C2 iy BAfT B & i

O |BEhEmEEsb L dosE TEF
1 |[EATAE 1-1) BE4T 4767 1 3K 3,018,260
1-2) 2B My 1 =& 904,800
2 | AR 1 3K 1,199,500
3 | B Ehk SR 1 = 80,870
4 |FFE SRR 4-1) PV ZEIEH 1 K 582,040
5 |[HENECE R W 1 K 85,580
6 [BHIL - NIRRT B 1 X 55,000
7 |RENTE OIS MR 1 = 95,200
it 6,021,250

@ | N EREEMRN L SOE T
1 |EATERH 1-1)EE AT 4y ilee 1 KX 2,731,890
1-2)z32 B MMyl 1 K 491,390
2 |ZEERE 1 = 40,830
3 |REPNE HE IS s 1 3K 71,400
4 |JErE R 1 K 21,450
5 |FFE SRR 5~ 1MV ZEREH 1 K 233,953
6 |k SERENF i 6-1) B Bh kSR A 1 = 17,490
7 |[FENECERRE 1 3K 1,519,281
&t 5,127,684
waEt 11,148,934




£ M EEPERMIBRBEERNMLIGETS No.
£ F 1 E B i & # &
I |tk fi T
1) B EH AoV
1 | Bk T3 1 K 5,938,150
2 |ka/KER e L 1 =K 2,631,669
3 |HEKER i T 1 K 7,106,760
4 |HGER AR T 1 K 261,950
5 |fiETEH 1 K 866,119
6 | AR L 1 K 325,475
/e 17,130,123
2) [HEHEEE/NER AL s
1 |fFrEas Bakli L 1 K 5,927,100
2 |Fa/KER D T 1 K 2,050,543
3 |HEKER D 1 K 4,554,020
4 |G L5 1 K 66,130
5 |fETLEH 1 K 563,260
6 |H AR LF 1 K 479,683
N 13,640,736
At 30,770,859




